(-4)-(-6)=2

(-5)-3=-8




3 times 5 .

Start with 0 and add three groups of
5 yellow counters

ST‘S}'—Q::__JS_L/
3ESCEJJ§M

NOTE: PRODUCT is the answer when you multiply.
m{i /OTEJQ(UQ?L oS Sood/ § 8 /IS



Multiplication as you know it is .

“repeated addition” starting at 0
,_,.sé-;—=='=='_'5'

The first number tells us “how many times” to do it
and the second number tells us “how many in each
group”

So 8 times 4 is adding eight groups of positive 4



3 times negative 5
words:

0dd 3 graps oF negdive S

repeated addition equation:
(SO +Es) + %}
multiplication equation:
SRS o= S-75 o 3(—«5’)

counters:

answer: ”“ff)\



7(-2)
words: 2Xive .

v
odd Seven gravps of Ne&g 0
repeated addition equation:

C D) DR+ (D) +(-2) ¥ ED+(-2)

multiplication equation:

Ne—2
counters:
o0
00 00 o0 oo
o0 90

answer. ""-/5/



17555#1 ve Fimes pasitive = patitie

?r:.rgﬂrme +ime S ﬂé‘ﬁﬁﬂ;rlua — megc&we

W _._._.d_'__)_._,_#_'_\
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Pactics
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